Tabufka miestnosti 1.NP
150 12 550 , 150, 4 I & | s ; .| Plocha | Povrchova | Povrchova | Povrchova
50 4750 =4, gk o 3800 Ls0, { G | N‘azov'm|estnost| [ (m2) _|prava podiaha | lprava steny | Uprava strop |
R ‘ o ) - _ 7 — - 5. 5 Ly 11.01 | zadverie 5,47 | ker.dlazba : omietka | sadrokarton |
L2 f } ! 1456 (1100] : &80 (1160) % f A 1.02 | kotolna ! 2,69 | ker.dlazba | omietka | sadrokartén |
! 1.02 | Spajza 2,17 ; ker.dlazba | omietka | sadrokarton !
4+ 1.03 | kuchyna 9,89 | ker.dlazba | omietka | sadrokarton |
gr 1.04 | obyv.izba+jedalen | 29,38 | lam.podlaha | omietka | sadrokarton
e 1.05 |izba | 12,73 | lam.podiaha | omietka i sadrokartén |
11.06 |izba i 14,32 | lam.podlaha | omietka | sadrokartén |
1.07 | kapelna | 6,25 | ker.dlazba | om.+ker.ob. | sadrokarton
11.08 |izba ] 11,84 | lam.podiaha . omietka sadrokarton
( { 1.08 | chodba { 7,48 | lam.podifaha | omietka | sadrokarton
| 1111 WC | 1,68 | ker.dlazba | om.+ker.ob. | sadrokarton
! 1.12 | Satnik [ 1,32 | ker.dlazba | omietka sadrokarton
| | 105,22 m?] i |
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